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Numeracy for Learning, Life and Work : i” Aﬂ:; = #a b l TOf ma-r hseve r'Yday .
1 : 2 xm 3 4 It takes 3 men
Write . 6m Calculate 12 hours to shovel Multiply out the
5-23x10 1o Calculate 1 3 snow. How long  _ following brackets
. the size will it take L | and simplify...
in number Calculate the length ;f,-s?i,e‘g 5 E -1 g frlhr'r;en ?T,) /5 5(x +8) — 3(2x — 7)
form- of the missing side. angles... s rate: Y. 2
Stevie scored 86 out A bus is going on a = “— 8m >
7 of 110 in his maths 8 C I l 9 52 mile school trip. 10 gg 11 1
prelim. What was aicu GTe The bus travelled Caleul
= i 28-24 miles before taki alculate
cound o meser | (100 - 36) = 22 | ashortbreac Iy hen | the | Calculate 20m
Yo the travelled a further area 40¢m 56 78 Calculate l
(B o 8:024 miles. How much of this X the area
p';iireens: %‘. further does it have to go? | shape... <-62cem—> of this kite...
Calculate the Dom s £48 inch . Calculate the length Matches are
13 gradient of this 14 fc?r C"n\',‘;f;c,‘,ymﬁs e 2% cm 6 of the missing sige. 17 manufactured that 18 Solve the
treadmill.. | g foot | 30-48 cm must have a tolerance :
dmner‘\. He;;ﬁ):e:hleoy of g . 5 17 of (30 + 3-5) mm. follovymg
1\0 cm 2.2 the value ofo‘rhe P hiorer o ﬁ"" What are the equation..
v bill. H h Football player ) xcom minimum and maximum
. ill. How much | is 6 ft 4 in tall. > — lengths of matches| 9x + 15 = 3 + 5x
m

does he pay in total?

How tall is he in metres?

that are acceptable?

19 Calculate the
median of the

20 How many 150 ml
cups of coffee
can be filled .

An art dealer paid
21 £800 for an oil
painting. He sold it
for £920. Express “‘

22 Factorise
the following

23 How far did a

scooter travel

24

following froma = <2 | s et aarn oxoression 8 in36minutes Calculate
data set... 3 'P];r'e e - J percentage of P aver‘ac;LGsr[‘Jee d ﬁ;ﬁ/ 4 2 3 2 9 2
CotTee S what he paid for SE‘@ -
8/ 2/ _41 51 _61 1 machine? %{‘/ the pﬂlnhng 15a - 24 of 7 mp'h?
25 Find the 'n™ 27 26m 28 The following
term for the 32m carpet samples
following sequence | Calculate = mathematically 4 [
and hence find the | the size of B i'hm"“" Calculate 5 |
Write th . the missing angle. e missing — g
the 10™ term: Round your answer to area... ‘ bE
equation of the straight line 4,10, 16, .. 1 decimal place. l Area = 8 m
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